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Bz iR I8 REED fe A TS
t % ha
2 @ i 784, 400 100.0 18, 800
1 F = 90, 100 11.5 1,470
2 ER B 76, 100 9.7 1,630
3 woz= 71,100 9.1 960
4 = I3 62, 300 1.9 1,580
5 H OB 42, 200 5. 4 1,190
6 % W 39, 500 5.0 844
7 5 & 32, 400 4.1 938
8 Es I3 27,100 3.5 422
9 it & & 22,700 2.9 489
10 w5 20, 500 2.6 281
[zh LA (ERED) ]
Btz MR eis ! RERD e
t % ha
2 E & 582, 500 100.0 16, 500
1 it i 168, 600 28.9 4,310
2 F = 110, 500 19.0 2,820
3 w B 48, 500 8.3 937
4 = x 34, 400 5.9 1,180
5 Es 3 32,900 5.6 795
6 x 177 30, 000 5.2 829
7 AE ¥ 22,700 3.9 715
8 BER B 22, 200 3.8 645
9 240 19, 400 3.3 376
10 S 16,100 2.8 423
(B2 ER L £]
Bz iR I8 REED fe TS
t % ha
£ @ & 38, 300 100.0 2,260
1 E 5 17, 300 45. 2 847
2 ER B 10, 300 26.9 488
3 5B 1,800 4.7 170
4 w8 904 2.4 66
5 T Iz 683 1.8 65
6 AE Y 999 1.6 56
7 W a 593 1.5 57
8 40 588 1.5 47
9 E = 583 1.5 36
10 M 529 1.4 37
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Bz iR I8 EED fe A TS
% ha
2 E & 138, 600 100.0 10, 100
1 % E 17, 900 12.9 738
2 = 3 13, 600 9.8 848
3 F o= 13, 200 9.5 860
4 B IE 8, 880 6. 4 444
5 3] K 1,350 9.3 474
6 BER B 7,240 5.2 503
7 % OB 6, 410 4.6 530
8 woz= 5, 040 3.6 391
9 HE K 4,820 3.5 463
10 B4 4,170 3.0 280
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Btz MR heis ! RERD et
% ha
£ @ & 138, 700 100.0 10, 100
1 % E 17, 900 12.9 738
2 = 13, 600 9.8 848
3 F o= 13, 200 9.5 860
4 B 4E 8, 880 6. 4 444
5 i3] N 7,350 5.3 474
6 ER B 7,240 5.2 503
7 I~ 6, 410 4.6 530
8 #w o= 5, 040 3.6 391
9 HE ¥ 4,820 3.5 463
10 B4 4,170 3.0 280
[L%R (fERIED) ]
Btz MR eis ! RERD et
% ha
£ @ & 552, 800 100.0 19, 900
1 E % 182, 600 33.0 5, 500
2 ®x W 86, 800 15.7 3, 360
3 BB 56, 700 10.3 1,380
4 E B 37, 000 6.7 973
5 % M@ 25, 700 4.6 902
6 E & 24, 200 4.4 1,120
7 £ A 17, 600 3.2 605
8 & M 15, 500 2.8 927
9 % 13, 600 2.5 696
10 i & & 12,900 2.3 477
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Bz iR I8 REED fe A TS
% ha
£ F &t 5, 990 100.0 334
1 F o= 1,330 22.2 75
2 % M@ 798 13.3 51
3 A 772 12.9 50
4 B E 506 8.4 25
5 5B 401 6.7 14
6 12 H 259 4.3 8
Ji BE RS 258 4.3 9
8 B B 234 3.9 9
9 i & & 210 3.5 9
10 = = 159 2.7 11
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Btz MR eis ! RERD et
% ha
2 E & 56, 200 100.0 4,020
1 % 28, 200 50, 2 1,730
2 E = 7,330 13.0 461
3 m B 4,950 8.8 525
4 24 2,760 4.9 217
5 W a 2,250 4.0 203
6 AE K 2,240 4.0 195
7 H OB 2,070 3.7 150
8 F o= 1,280 2.3 117
9 =S| 1,190 2.1 95
10 i W 1,090 1.9 92
[PFEDOLE]
Btz MR eis ! RERD et
% ha
2 E & 157, 200 100.0 6, 630
1 it i 77, 500 49.3 1,880
2 5 & 45, 500 28.9 2,240
3 E % 6, 440 4.1 263
4 F o= 5, 650 3.6 475
5 it 5 4,450 2.8 390
6 A ¥ 2,790 1.8 173
Ji x 17 2,750 1.7 104
8 % 1,610 1.0 162
9 B Ex 1,400 0.9 53
10 w8 1,000 0.6 68
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Bz iR I8 REED fe A TS
t % ha
£ @ & 139, 400 100.0 4, 980
1 it i 77, 200 55. 4 1,870
2 5 & 45, 300 32.5 2,220
3 E % 6, 440 4.6 263
4 = F 2,770 2.0 172
5 *x B 2,310 1.7 87
6 B HX 1,280 0.9 48
7 5B 949 0.7 65
8 B B 641 0.5 43
9 T 550 0.4 39
10 K] i1 517 0.4 34
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Bz iR I8 RERD FeAH TR
t % ha
£ B &t 1,680 100.0 419
1 2 A 3,230 42.1 56
2 B B 902 1.7 82
3 X IR 790 10.3 11
4 =] [if] 434 5.1 J/
5 w5 279 3.6 19
6 N H 2171 3.6 30
Ji it & & 202 2.6 22
8 E % 163 2.1 21
9 I 108 1.4 9
10 2 IE 101 1.3 16
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Bz iR I8 REED fe A TS
t % ha
2 @ & 26, 000 100.0 1,730
1 X IR 3,330 12.8 184
2 =] [if] 2,470 9.5 178
3 F = 2,430 9.3 134
4 x 17 2,120 8.2 122
5 it 5 2,090 8.0 113
6 =2 & 1, 340 5.2 100
7 ! 1,050 4.0 64
8 i3] /N 1,020 3.9 45
9 % E 960 3.7 64
10 = B 907 3.5 72
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Bz iR I8 REED fe A TS
% ha
£ @ & 39, 000 100.0 2,320
1 *x B 19, 300 49.5 996
2 =] [z 3, 280 8.4 216
3 -S| 2,730 7.0 140
4 E = 1,530 3.9 105
5 #0OB 1,410 3.6 100
6 i 1,380 3.5 110
7 X IR 963 2.5 45
8 B B 840 2.2 60
9 5B 791 2.0 46
10 A 544 1.4 21
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% ha
£ B &t 29, 300 100.0 532
1 E % 12, 200 41.6 226
2 % [if] 9, 280 18.0 83
3 =] [if] 3,570 12.2 47
4 2 A 2,780 9.5 42
5 x 17 1,040 3.5 16
6 F = 874 3.0 19
7 F 842 2.9 9
8 it & & 142 2.5 20
9 0] i 417 1.4 14
10 A 300 1.0 6
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Bz iR I8 REED fe A TS
% ha
2 E & 22, 200 100.0 1,250
1 x 17 2, 660 12.0 116
2 A X 2, 560 11.5 119
3 2 A 2,340 10.5 121
4 % 2,060 9.3 08
4 E % 2,060 9.3 97
6 w5 1,910 8.6 79
7 H OB 1,220 5.5 90
8 =] [if] 870 3.9 50
9 oz ) 671 3.0 39
10 "M 532 2.4 28
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Bz iR I8 REED fe A TS
t % ha
£ @ & 172, 900 100.0 17, 200
1 it i 27, 600 16.0 3, 060
2 % 15, 500 9.0 1,190
3 o 15,100 8.7 972
4 EF 13, 300 7.7 1,300
5 w B 11, 700 6.8 974
6 E % 11, 500 6.7 1,130
7 E I 10, 900 6.3 1,040
8 AE Y 8, 440 4.9 900
9 B HX 6, 810 3.9 805
10 BB 6, 520 3.8 627
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Bz iR I8 RERD FeAH TR
t % ha
2 @ i 54, 300 100.0 1,890
1 s 14, 300 26. 3 250
2 i3] /N 8,320 15.3 314
3 x 17 6, 780 12.5 197
4 = 3, 460 6.4 04
5 x % 3,080 5.7 59
6 it & & 2,820 5.2 64
7 W R 2,760 5.1 209
8 = B 2, 420 4.5 146
9 it 5 2,390 4.4 146
10 F = 2,260 4.2 108
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Bz iR I8 REED fe A TS
t % ha
2 @ & 20, 400 100.0 2,550
1 5 & 13, 500 66. 2 1,420
2 it & & 973 4.8 169
3 F 728 3.6 104
4 A ¥F 383 1.9 61
5 BERE 351 1.7 47
6 = B 283 1.4 43
1 N H 2173 1.3 62
8 E % 266 1.3 38
9 AE X 240 1.2 40
10 = 211 1.0 53
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Bz iR I8 REED fe A TS
% ha
2 B & 19, 300 100.0 2,650
1 ER B 4,980 25. 8 426
2 4 1,490 7.7 121
3 B B 1,060 5.5 237
4 AE X 1,030 5.3 52
5 M T w 104 3.6 51
6 5B 635 3.3 03
7 % M| 560 2.9 80
8 E & 522 2.7 45
9 = = 502 2.6 72
10 E & 487 2.5 82
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Btz MR eis ! RERD e
% ha
£ B &t 4,900 100.0 600
1 M 3 2,070 42.2 167
2 BERE 657 13.4 71
3 it & & 3217 6.7 58
4 xR 190 3.9 33
5 AE X 172 3.5 17
6 =] [if] 156 3.2 21
7 g B 149 3.0 22
8 =2 & 115 2.3 20
9 = B 101 2.1 18
10 w5 95 1.9 13
[£5%6)]
Bz iR I8 REED fe A TS
% ha
2 E & 13, 200 100.0 1,580
1 BERE 3,230 24.5 229
2 F = 2,210 16.7 313
3 x 17 1,230 9.3 115
4 g 607 4.6 85
5 = 17 476 3.6 66
6 F 446 3.4 81
7 E 15 403 3.1 37
8 H OB 399 3.0 48
9 =] fif] 370 2.8 49
10 B &K 314 2.4 28
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Bz iR I8 REED fe A TS
t % ha
2 @ i 46, 200 100.0 1,690
1 5 @ 20, 500 44. 4 420
2 £ K 5, 260 11.4 167
3 F = 4, 900 10.6 297
4 w g 2,380 5.2 79
5 *x B 2,090 4.5 125
6 ER B 1,930 4.2 79
Ji M T w 1,890 4.1 35
8 &% [z 1,390 3.0 85
9 E & 1,340 2.9 70
10 o 663 1.4 47
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Btz MR eis ! RERD e
t % ha
£ B &t 16, 400 100.0 596
1 % [if] 9, 120 34.9 220
2 2 A 3,920 23.9 124
3 x 17 3, 200 19.5 112
4 s 1,660 10.1 65
5 F = 500 3.0 20
6 =] H 350 2.1 16
7 E 348 2.1 11
8 = = 210 1.3 7
9 O 194 1.2 7
10 g B 61 0.4 2
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Bz iR I8 REED fe A TS
t % ha
2 E & 315, 900 100.0 8, 940
1 X 48, 000 15.2 1,260
2 F = 36, 800 11.6 947
3 TR 31, 400 9.9 765
4 w OB 19, 000 6.0 480
4 B I 19, 000 6.0 374
6 24 16, 800 5.3 393
7 E % 15, 600 4.9 295
8 x 177 15, 300 4.8 378
9 O 12, 900 4.1 260
10 it & & 12, 700 4.0 318
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